WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
AC1120 10.04 ac101gc F 15-JUN-95
Engines |NH/NT 855, NT495, NT743, NTA855 N106
10
.-'/f.
y
AR e 15
& A
.-'"‘\,_\ p 10 \\‘ .
f,v% \ .'-'|z,/ _H;_‘"““*.x ™,
| ti:'., & 8 4 ' \\ '
A NN 1))
S Ilf'i B | e _'_-.~\ ;1—1;' :""'I g
/ | SN V% T
z { | \\\‘\*\;‘\. ;ﬁ'\-#ﬁ}
7~ AN\
= x\\\:l!l II'. 9- }'\:C‘-.l‘;\‘l ‘-\\ J; /T 1
ONYL s 7
/14 >~ \ % o &
=Sl . v-fﬁ/ . 16
(SN A~ o
= e
k. \ -~ - ~ "
- = . T &
R, ‘/Ir,- -1_\_""'-\_._\_‘_13 r,p"-i—_rr = :‘- 1 - - _,ﬁ
e ..":“ ~ ) . "._‘:_.:-
A kk"“-'-
'-'Tr:'g*"“"“-h-&

[ac101ge]

SMALL | MEDIUM | LARGE

View My Cart

AC1120

Air Cleaner

Normal duty engine mounted...(More)

air cleaner with inlet hood.

For use in clean

environments. Suitable for



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('ac101gc','/rtgraphics/english/parts/ac/1/ac101gc_sm.png');
javascript:swap_img('ac101gc','/rtgraphics/english/parts/ac/1/ac101gc_md.png');
javascript:swap_img('ac101gc','/rtgraphics/english/parts/ac/1/ac101gc_lg.png');

all naturally aspirated 855

models only.
1 S 186 A Hexagon Head Cap Screw 5/8 -18 x 1 1/4 inch
2 120516 Hexagon Head Cap Screw 1/2-13 x5 1/4in.
3 127316 Plain Washer 5/8 in.
4 S 111 Hexagon Head Cap Screw 5/16-18 X1 1/2in.
5 S 221 Heavy Hexagon Nut 5/16 - 18 UNC
6 S 223 Heavy Hexagon Nut 3/8 -16 UNC
7 S 605 Lock Washer 5/16 in.
8 105916 Air Cleaner Strap
9 3010595 Captive Washer Cap Screw 3/8-16 X 1in.
10 125741 T-Bolt Clamp 6 inch
11 195873 Cleaner Cap
12 3000224 Air Inlet Tube
13 3021643 Air Cleaner
14 3030772 Elbow Hose
15 3030790 Hump Hose
16 3044632 Air Cleaner Bracket
17 3318651 Decal



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

